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Question Number : 1 Question Id : 25498942322 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In Windows systems, the menu allows you to start programs list.
Options :

1. * Default

2. * Taskbar



3. ¢ Start
4. ¥ Desktop

Question Number : 1 Question Id : 25498942322 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Windows Rieq ¥, T 317! TIUTH et TR (XLTE) TR B1 3Hfd SaT 7|
Options :

1. % fSWlee (Default)

2. # CRM AR (Taskbar)

3. ¢ TR (Start)

4. % ZWpHeY (Desktop)

Question Number : 2 Question Id : 25498942323 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following can be described as an end-user software?
Options :

1. % DOS

2. % System Software

3. % Application Software

4. % BIOS

Question Number : 2 Question Id : 25498942323 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

g & 9 ford sifad (TS) ToR TitedmR & =0 H aftfd foar 51 aedr g2
Options :

1. % 319 (DOS)

2. % RRcH AiteddR

3. ¢ {IUART UehaT (TEioh ] W)




4. % 91O (BIOS)

Question Number : 3 Question Id : 25498942324 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The largest network in the world is called the
Options :

1. % Web

2. % Intranet

3. % VPN

4. ¥ Internet

Question Number : 3 Question Id : 25498942324 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A ged ds Acam Bl dEIdl gl
Options :

1. % d9

2. % gTMC

3. % gLOiE,

4. ¢ 3T

Question Number : 4 Question Id : 25498942325 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Notebook system units are often called as
Options :

1. # PDAs

2. % laptops

3. % desktops

4. % tapes



Question Number : 4 Question Id : 25498942325 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

e TUTTeH 3BTl BT SRR ARG
Options :

1. ® Q8T

2. ¥ AU

3. % SWhely

4. % QY

Question Number : 5 Question Id : 25498942326 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The first electronic worksheet on a personal computer was known as:
Options :

1. ¥ VisiCalc

2. # Microsoft Excel

3. % Lotus 1-2-3

4. % PHP

Question Number : 5 Question Id : 25498942326 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TR e IR UGl SadgiHad bRl & &g T S STt ot
Options :

1. ¥ VisiCalc

2. # Microsoft Excel

3. % Lotus 1-2-3

4. % PHP



Question Number : 6 Question Id : 25498942327 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The “ > tells the rest of the computer how to carry out program instructions.
Options :

1. # IP Controller

2. # Motherboard

3. % Control unit

4, % ALU

Question Number : 6 Question Id : 25498942327 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

" ", QY SR B FaTdl g fb T A &) & S 3|

Options :

Question Number : 7 Question Id : 25498942328 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which of these was the first network?
Options :

1. ¥ CSNET

2. % NFSNET

3. ¥ ANSNET

4. ¥ ARPANET

Question Number : 7 Question Id : 25498942328 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
S0 ¥ B Ugdl Head UI?
Options :

1. # CSNET

2. % NFSNET

3. ¥ ANSNET

4. ¥ ARPANET

Question Number : 8 Question Id : 25498942329 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
in twitter is also known as twitter handle.
Options :
1. ¥ Username
2. # Timeline
3. # Timestamp
4. % Activity

Question Number : 8 Question Id : 25498942329 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

feex o @l fgex g M FeTS@T B
Options :

1. ¢ goR-Y

2. % CIQHdAIgA

3. % TIRELY

4. % TR

Question Number : 9 Question Id : 25498942330 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which file format is used to save XML document?



Options :

I. # xmxl
2. % xml

3. #* xml.doc

4. % xmls

Question Number : 9 Question Id : 25498942330 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

XML SETA9T B go & ol BIF A WIsd WIHe BT STIANT fhaT SI1dT 82
Options :

1. #= xmxl
2. % xml
3. % xml.doc

4. % xmls

Question Number : 10 Question Id : 25498942331 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is a scripting language?
Options :

I. ® C++

2. % C

3. ¥ PERL

4. * FORTRAN

Question Number : 10 Question Id : 25498942331 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T8 A DI I e w22

Options :



1. % C++

2. % C

3. ¥ PERL

4. % FORTRAN

Question Number : 11 Question Id : 25498942332 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Insert caption option is available in which tab of MS Word?
Options :

1. # TABLE

2. # FORMAT

3. ¥ REFERENCES

4. ¥ INSERT

Question Number : 11 Question Id : 25498942332 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

3¢ HRM fahed MS Word & 5 o9 T IUTH 57
Options :

1. ®* TABLE

2. ¥ FORMAT

3. ¥ REFERENCES

4. % INSERT

Question Number : 12 Question Id : 25498942333 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

With regards to control of video and other media in the slide show, what is the key combination to go to the next bookmark in MS PowerPoint?
Options :

1. ¥ ALT+ENTER

2. ¥ ALT+END



3. ¥ CTRL+ENTER
4. % CTRL+END

Question Number : 12 Question Id : 25498942333 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

MS PowerPoint ¥, T1ES T & SR difedl 3R 3= Hifean &1 fFAafa w3 & Y &, 3T §HHG R o & o F1-a1S Wicdhe 182
Options :

1. ¥ ALT+ENTER

2. ¥ ALT+END

3. # CTRL+ENTER

4. % CTRL+END

Question Number : 13 Question Id : 25498942334 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is a portable storage device in a computer?
Options :

1. % CPU

2. # Keyboard

3. ¥ Pen drive

4. # Trackball

Question Number : 13 Question Id : 25498942334 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
e B @ Hi-an, frdf pger A tidad ©Re fearga 82

Options :

1. % iRy (cpu)
2. % Blals

3. ¢ U g13d



4. % CHaId

~

Question Number : 14 Question Id : 25498942335 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The process of copying a file from one computer to another connected over network/Internet is called:
Options :

1. ¥ downloading

2. # gsharing

3. % transferring

4. # uploading

Question Number : 14 Question Id : 25498942335 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T RHle HEeR I 307 HIER T WIZd BT B B1 Ufhal $1 1 FHgT STl 82
Options :

1. ¢ SIS

2. % I HAT (AIAR)

3. % QMR (CFAHINT)

4. % 3OS

Question Number : 15 Question Id : 25498942336 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
In a computer network, PAN stands for:
Options :

1. # Private Area Network

2. % Public Area Network

3. ¥ Personal Area Network

4. % Protected Area Network



Question Number : 15 Question Id : 25498942336 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
HER "Acadh H, PAN (UF) 1 am 31 g2
Options :

1. % UIgdc uhar Aead

2. % Ufseres TRAT Aead

3. ¢ U URAT Headh

4. % YIedes TR Aeddh

Question Number : 16 Question Id : 25498942337 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following port is used for connecting older printers?
Options :

1. # Serial port

2. % Parallel port

3. % Interface port

4. # Line in port

Question Number : 16 Question Id : 25498942337 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

RM iR &1 S & fore ford Uic &1 IuaiT fasan S g2
Options :

1. % diftga aré

2. AR U1 (RTd UIc)

3. % RGBT

4. % O A AR (TR &7 0



Question Number : 17 Question Id : 25498942338 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In anonymous e-money, factor is used to encrypt the random number.
Options :

1. ¥ blinded

2. % prince

3. % prime

4. % anonymity

Question Number : 17 Question Id : 25498942338 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A S-AN A, TRfp AR P UHTERASI T Thaer (BRP) BT YINT fodl Srar g |
Options :

1. ¥ SIS

2. % U9

3. % UIgH

4. % SN

Question Number : 18 Question Id : 25498942339 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
What is the use of VPA in BHIM?
Options :

1. # VPA is used for authentication.
2. ®% VPA is used for encryption.

3. ¥ VPA is used to transfer payment.
4. ¥ VPA is used for decryption.

Question Number : 18 Question Id : 25498942339 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

W F Gt T (vea) &1 71 IUTIfRIAT 82

Options :

1. % GO T g & e vged g B

2. % GHT Heoad & forg Tgad giaT g |

3. ¢ AT YIdH & IR & ot Ugad glar g
4. % AT faPpie & forg ugad I g

Question Number : 19 Question Id : 25498942340 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following charts is very similar to the Pie chart?
Options :

1. ¥ Doughnut chart

2. % Line chart

3. % Surface chart

4. ® Area chart

Question Number : 19 Question Id : 25498942340 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

fFofifed # 9 319 91 91 Urs-a1c & JHH gidl 87
Options :

1. ¢ e 91 (Doughnut chart)

2. % QIR TIC (Line chart)

3. % TRGY T (Surface chart)

4. % TR =T (Area chart)

Question Number : 20 Question Id : 25498942341 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



tracks individual's Internet activities and habits to help companies advertise more efficiently.
Options :
1. ¥ Commands
2. % Adware
3. % Frames
4. ¥ Mails

Question Number : 20 Question Id : 25498942341 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

 HUfEl Bl % HRIAAr ¥ ORI S H Heg SR & ol il ol Seie araiadl 3R 3fgd! IR ToR 3&dl g |
Options :

1. % pUGYH

2. ¢ TSAW

3. % hHg

4. % Teq

Question Number : 21 Question Id : 25498942342 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
is hard coded into the microcontroller.
Options :
1. # System loader
2. ¥ Bootstrap loader
3. % Bootstrap theme v2
4. % Bootstrap theme v5

Question Number : 21 Question Id : 25498942342 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

AR dae § grs Pifsd sl |

Options :



1. % Reg diex
2. ¢ YEKY A
3. % geRu iy v2
4, % Q\E@AqlﬂqVS

Question Number : 22 Question Id : 25498942343 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
refers to the physical devices used to store programs or data on a temporary basis.
Options :
1. % Program
2. # Data
3. ¥ RAM
4. # Hard disk

Question Number : 22 Question Id : 25498942343 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
, SR SHTYR TR YIUTH T 3T DI LR B & 74 T Hifdds SUHRTN (physical devices) BT HaiHd BT |
Options :
1. % UEH
2. % 8T
3. ¥ RAM

4. % g8 fem

Question Number : 23 Question Id : 25498942344 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following types of pointing device has crisscrossed invisible beams of infrared light that are protected with a clear plastic outer
layer?

Options :



1. # Optical mouse
2. % Touch screen
3. % Light pen

4. # Pointing stick

Question Number : 23 Question Id : 25498942344 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

fhg TR & NERT fEarsy 3 TIpRE TIEe P 3T IF B ATST-foRT fha1 § S Wy @ifeds 3M3er AT & a1y JRI&d 82
Options :

1. % 3ffPhd AI3H

2. ¢ TITHIA

3. % A3 U

4. % Ufdnfes

Question Number : 24 Question Id : 25498942345 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is the shortcut key combination to print a file?
Options :

1. % Cul+C

2. % Cul+Vv

3. ¥ Ctrl+P

4. % Ctrl+N

Question Number : 24 Question Id : 25498942345 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

fopft BrEd @i fiiec TR &1 Xche Foll THRSH 1 ]2
Options :

1. % Ctrl+C




2. % Ctrl+V
3. % Ctrl+P
4., % Ctrl+N

Question Number : 25 Question Id : 25498942346 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
A printer creates of documents.
Options :

1. # soft copy

2. % hard copy

3. # electronic copy

4. # digital copy

Question Number : 25 Question Id : 25498942346 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
T fiex Siagde o CRIGI
Options :

1. % Gigeeal

2. ¥ BISHIUl

3. % SoiaclHep BIdl

4. % fefored »idl

Question Number : 26 Question Id : 25498942349 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following MS Word "Change Case" options is used to reverse the case of the letters in a selected text?
Options :

1. # lowercase

2. % UPPERCASE



3. #¥ gentence case
4. ¥ tOGGLE cASE

Question Number : 26 Question Id : 25498942349 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

MS Word ff, Fufafaad 3 feg "Change Case" fam ey &1 IuT Bt Tafd ures | ﬂ&@ﬁWW%WWW%”
Options :

1. % lowercase

2. ¥ UPPERCASE

3. % sentence case

4. ¥ tOGGLE cASE

Question Number : 27 Question Id : 25498942350 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
The below figure shows that the:

File Home Insers Dhesign Layaed Frfeionies. Mg Rewvrey Wi
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Options :
1. ¥ user is changing the page size of the document
2. % user is changing the margins

3. % user is changing the page orientation



4. ® yser is changing the font size

Question Number : 27 Question Id : 25498942350 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

75 foer T femmar g fs
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Options :

1. ¢ IUTNTGHAT SIFTHE & US PR ! 95 8T 7 |
2. % JUANTGHA! HTfoi- S&d 38T 8|

3. % JUGNTDA o 3NRTET s 6T 7

4. % JUONTHA] BI< PR ded T ¢

Question Number : 28 Question Id : 25498942351 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

First-line indent can be changed using the commands available under command group of Home tab in MS Word 2016.
Options :

1. ¥ Paragraph

2. % Font

3. # Clipboard

4. ® Styles



Question Number : 28 Question Id : 25498942351 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

MS Word 2016 HEHCT® _ HHIS TG & 3faiid SUAS HHIGH SUUNT B e A3 3¢ Pl gadl ofl Ghdl ¢ |
Options :

1. ¢ TR (Paragraph)

2. ¥ TpI<C (Font)

3. % fGUErs (Clipboard)

4. # A (Styles)

Question Number : 29 Question Id : 25498942352 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is INCORRECT in the below given options?

Options :

1. ¥ Word automatically inserts a page break at the end of each page when we create a document.
2. % We can manually add a page break somewhere else in the document.

3. ¥ We can always delete a page break that we have added.

4. ¥ We can remove page break that Word automatically adds at the end of each page.

Question Number : 29 Question Id : 25498942352 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

e fou e fywedt & fgfafed wy=l & @ &9 W HYF 3d 82

Options :

1. % /9 g U SIagHE §1d g df T Ul o 3fd H g8 30 31T Th USl 9 I Hral o |
2. % g Siagic | dal Wl Agsd ©U I U 9 SIS Tdhd & |

3. % gH gHRI U U Ul §b ) 8T obd @ o g SieT B

4.+ 1 98 UE faRTH (U1 1) €21 Ahd & S Word GRT TP UF & 3id H Wd: SheT Sar g |

Question Number : 30 Question Id : 25498942353 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

In MS Word 2016, a(n) section break lets you start a new section on the next even-numbered page.
Options :

1. # next page

2. # continuous

3. % even page

4. # odd page

Question Number : 30 Question Id : 25498942353 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

MS Word 2016 ¥, IR S ST ST TH ISAT a7 ISl TR U 741 YR L= DR el g |
Options :

1. % qRe U9
2. % B3N
3. ¢ 33909
4. % TS U

Question Number : 31 Question Id : 25498942354 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The speed of laser jet printer is measured in:
Options :

1. % LMP

2. % DPL

3. % DPS

4. ¥ PPM

Question Number : 31 Question Id : 25498942354 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



dRSe ek ®infd®l HAAGISEIGH
Options :

1. ¥ LMP (YAUHUY)

2. % DPL (SUITq)

3. % DPS (SIUIT)

4. ¥ PPM (UIUTEH)

Question Number : 32 Question Id : 25498942355 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Webcam is a/an:

Options :

1. # analog video device

2. ¢ digital video device

3. # analog audio device

4. % digital audio device

Question Number : 32 Question Id : 25498942355 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
dEPHTH g

Options :

1. % TATENT ST SuHhRul

2. ¢ fSfied difsar s

3. % TATANT 3M1TSTl IUHRT

4. % fefored siifsar Iyl

Question Number : 33 Question Id : 25498942356 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
The signal voltage induced in the aerial of a radio receiver is of the order of



Options :

1. # millivolts
2. # volts

3. % microvolts
4. #* kilovolts

Question Number : 33 Question Id : 25498942356 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

foreft Yo Reftar & e o ot Ryt diees ORd g § 98 TSI I BT 5|
Options :

1. % feflaiecy

2. % dlecy

3. ¢ HIgehldleey

4. % fhelldiecd

Question Number : 34 Question Id : 25498942357 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is the function key to launch Spelling & Grammar check in MS Word?
Options :

1. ¥ F7

2. % F5

3. % Fl

4. % F4

Question Number : 34 Question Id : 25498942357 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

MS Word & TR TS TR 9 (Spelling & Grammar check) Y& HR & Y HaRH Foit Fafafad o g2

Options :



1. ¥ F7
2. ® F5
3. % F1
4. # F4

Question Number : 35 Question Id : 25498942358 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In MS Word 2016, the section break option appears under menu item.
Options :

1. ¥ Layout

2. # References

3. ¥ Home

4. % Insert

Question Number : 35 Question Id : 25498942358 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

MS Word 2016 H, 3FIHFT foRT (IaRF 8%) fddbed T 3MZecH & fiid gial o
Options :

1. ¢ TSI (Layout)

2. % THAS (References)

3. % g (Home)

4, ® sﬂé (Insert)

Question Number : 36 Question Id : 25498942359 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following symbols is used for absolute address in MS Excel?
Options :

1. % %



2.¥8%
3.% &
4. = #

Question Number : 36 Question Id : 25498942359 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

MS Excel ¥, TsHIege T9¥ (IRH Ud) & forg Fafeied & 9 ford i (Riae) o1 SuainT foar S g2
Options :

1. * %

2.¥3

3. % &

4. = #

Question Number : 37 Question Id : 25498942360 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In MS Word, which of the following is NOT a border setting in paragraph group?
Options :

1. # Style

2. ¥ Height

3. * Color

4. * Width

Question Number : 37 Question Id : 25498942360 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

MS Word H, fafafad & I 31 TR 9ag o arex afeT T8 /2
Options :

1. # ¥XIgd

2. ¥ gIgC



3. % HR
4. % fa8Y (Width)

Question Number : 38 Question Id : 25498942363 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Windows filenames have two parts; the file's name, then a period (.) followed by the
Options :

1. ¥ extension

2. # icon

3. % path

4. % document

Question Number : 38 Question Id : 25498942363 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Windows & WIS T & &I 4T BId &; Wigd &1 =, fhr tifvas () e a1g TR
Options :

1. ¢ THCTH (extension)

2. % 3HIgd (icon)

3. % UY (path)

4, % W?(Document)

Question Number : 39 Question Id : 25498942369 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
What is a printer?

Options :

1. # Itis a software

2. ¥ It is a hardware

3. # It is a networking device



4. # It is an input device

Question Number : 39 Question Id : 25498942369 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

ffer U &l

Options :

1. % IireaR

2. ¢ BISAR

3. % JcafdhT IuHYl (fSarsy)

4. % Y 3UDUI

Question Number : 40 Question Id : 25498942370 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
is a situation in which two programs try to access the resource at the same time and effectively prevent each other.
Options :
1. % Booting
2. # Bootloader
3. ¥ Deadlock

4. % Device driver

Question Number : 40 Question Id : 25498942370 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
TH U RUfa & e <1 Ui U & 90T B S1eH &1 TR SR &1 TR & § 3R U GaR & THTAT &1 I AHhd ¢ |
Options :
1. % g
2. % geals?
3. ¥ S8dld
4. % {SIZY YR



Question Number : 41 Question Id : 25498942371 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In MS Word, when you want to underline selected text with double lines, then which of the following key combinations you will use?
Options :

1. ¥ CTRL+SHIFT+D

2. % CTRL+SHIFT+F

3. # CTRL+SHIFT+E

4. % CTRL+SHIFT+H

Question Number : 41 Question Id : 25498942371 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

MS Word H, ST& 30 Igfd UTS B GIe] el & 1Y XGifdd &A1 91gd gl, di 3119 Hafaiad H 4 fod Gl Faie &1 IUTRT deil
Options :

1. ¥ CTRL+SHIFT+D

2. % CTRL+SHIFT+F

3. ¥ CTRL+SHIFT+E

4. ® CTRL+SHIFT+H

Question Number : 42 Question Id : 25498942373 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following cannot be created using the Mail Merge option in MS Word 20167
Options :

1. ¥ Word template

2. # Letters

3. % Envelops

4. % Labels

Question Number : 42 Question Id : 25498942373 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is



Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

MS Word 2016 & Hel 79l (Mail Merge) fdehed &1 JudT Srab ufeiRad # 3 or gt s S gebar?
Options :

1. ¢ I8 THaC (Word template)

2. % Ty (Letters)

3. % U4 (Envelops)

4. % AE (Labels)

Question Number : 43 Question Id : 25498942384 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What will be the output for the function ROWS(G4:G6) in an OpenOffice Calc?
Options :

1. %2

2.¥3

3.% 4

4, % 5

Question Number : 43 Question Id : 25498942384 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

3 3{fh Y ded (OpenOffice Calc) H HaRF ROWS(G4:G6) BT &1 3TITYC B2
Options :

1. %2

2.¥3

3.% 4

4, %5

Question Number : 44 Question Id : 25498942385 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



In MS Word, paragraph marks signify
Options :

1. # beginning of a paragraph.

2. # saving has been done till the marked paragraph.
3. ¥ end of paragraph when Enter key is pressed.

4. ® current cursor position in the paragraph.

Question Number : 44 Question Id : 25498942385 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
MSWordﬁ,anﬂTq;ﬁl—@'?ﬂTm%?

Options :

1. % TRTIG &I LS|

2. % ffgd IRTUTH O o UIS Bl Fool o T 5|
3. ¥ Enter $oll B Ga TR IRTUTH BT 3id|

4. % RIUTH T HIR & gaqq R

Question Number : 45 Question Id : 25498942386 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Pivot tables were invented in 1986 by the Father of Pivot Tables
Options :

1. ¥ Sundar Pichai

2. % Bill Gates

3. # Linus Torvald

4. ® Pito Salas

Question Number : 45 Question Id : 25498942386 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
fUde CEd (Pivot tables) BT MADBR 1986 H fiide caeq & & R foar mar o



Options :

3. % @rsY cRdlee
4. % T ga™g

Question Number : 46 Question Id : 25498942387 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
BPP is known as

Options :

1. #® Bytes Per Pixel

2. ¥ Bits Per Pixel

3. # Binary Per Pixel

4. ® Bytes Per Picture

Question Number : 46 Question Id : 25498942387 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
BPP &I {5 =0 H ST STl 82
Options :

1. % Bytes Per Pixel (T3¢ WR fURTe)
2. ¥ Bits Per Pixel (@E\H [°E3 ﬁl?ﬁlﬁ)

3. % Binary Per Pixel (ST3%1 UR fUeRTan)

4. % Bytes Per Picture (T3¢ W fUERR)

Question Number : 47 Question Id : 25498942388 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
What is the address of the cell corresponding to the tenth column and seventh row in MS Excel?
Options :



1. ¥ J7
2.% 7]
3. # GI0
4. %= 10G

Question Number : 47 Question Id : 25498942388 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

MS Excel H, GHd BT IR HIad dfad I Wd Gl &1 gl FHafiad o 9 19 31 g
Options :

1. J7

2.% 7]

3. % GI10

4. = 10G

Question Number : 48 Question Id : 25498942391 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A biometric sensor is basically the following type of electronic device:
Options :

1. ¥ transducer

2. * resistor

3. % transistor

4. % capacitor

Question Number : 48 Question Id : 25498942391 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
IEAAfcH TR qd wU § Fgfiied & § {5 TeR &1 gaaei-e USRIl gidl 82

Options :
1. ¥ CRISIR



2. % IR
3. % gifoRex
4. % HURYeR (i)

Question Number : 49 Question Id : 25498942392 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
What is the full form of LCD?
Options :

1. # Light Crystal Display

2. ¥ Liquid Crystal Display

3. # Light Chrome Diode

4. % Liquid Chrome Display

Question Number : 49 Question Id : 25498942392 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

LCD &1 1AM Fgfifed & § s a g?
Options :

1. % d3c fbeed fS¥ (Light Crystal Display)

2. ¢ fafers foted f$¥@ (Liquid Crystal Display)
3. % T3¢ PHIH SIS (Light Chrome Diode)

4. % fafes 11 fS¥& (Liquid Chrome Display)

Question Number : 50 Question Id : 25498942393 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which type of scanner reads the Universal Product Code?
Options :

1. ® Film scanner

2. ¥ Bar code reader



3. #* Dot matrix

4. % Pseudo random

Question Number : 50 Question Id : 25498942393 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

fhg UPR BT TR YRadd Nede SIS Pl TgdT 82
Options :

1. % e W

2. ¥ TR BIS ST

3. % gic Afea

4. % FIIISA

Question Number : 51 Question Id : 25498942394 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In a sound card connection, which colour is used for microphone or mic?
Options :

1. # Blue

2. % Yellow

3. % White

4. ¥ Pink

Question Number : 51 Question Id : 25498942394 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

o IS DTS HaRH |, AISHIhIE g1 gD o U fbg 11 BT IuTNT fohar Sirar g2
Options :

1. % e

2. % Tiell

3. % ghg




4. T[eTTel!

Question Number : 52 Question Id : 25498942395 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
is a method of viewing video or listening to audio content without actually downloading the media files.
Options :
1. ¥ Streaming
2. * Downloading
3. % Browsing
4. % Uploading

Question Number : 52 Question Id : 25498942395 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

HifSar Bl & aRdd § SRS fby o difear T T Siifsat Ireh g &1 U faf g

Options :

1. « HIfH
2. % SR3FAINST
3. % SISO
4. % 3OS

READING COMPREHENSION
Section Id : 2549894965
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 1
Number of Questions to be attempted : 1

Section Marks : 5



Display Number Panel : Yes

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 2549895006
Question Shuffling Allowed : Yes

Question Id : 25498942378 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (53 to 57)
Read the following passage and answer the questions:

How They Met

Emperor Akbar loved to go hunting. Even as a child, he would run away to go riding and hunting. He grew up to be an excellent rider and a
fearless hunter. One day, chasing a tiger, Akbar and a few brave soldiers rode so fast that they were a long distance away from the royal capital at
Agra. As evening came, they realised that they were lost. Hot, dusty and tired, they finally reached a place where three roads met. “Ah, at last”,
the emperor exclaimed. Then, turning to his men, he asked, “Which way shall we go? Which road goes to Agra?”

The roads all looked the same. Nobody said a word.

Just then, a young man came walking down one of the roads. The Emperor’s men called out to him and ordered him to come forward. He did so,
looking up at the richly-dressed hunters with bright, curious eyes. “Tell us boy,” said Emperor Akbar, "Which road goes to Agra?”

The young man began to smile. “Huzoor, everybody knows that roads can’t move. How can this road go to Agra or go anywhere else?”” he said,
laughing delightedly at his own joke.

There was absolute silence. The emperor stared down at the youth. No one spoke. “People travel,” the boy went on, not seeming to notice the
silence, “roads don’t, do they?”

“No, they don’t,” the emperor cried suddenly and began to laugh. The youth continued to look up at the emperor with twinkling eyes. "What’s
your name?” Emperor Akbar asked the young man. “Mahesh Das”, he replied. “And what is your name, Huzoor?” The emperor pulled off an
enormous emerald ring which he wore on his hand. Leaning down, he gave it to the young man.

“You are speaking to Akbar, Emperor of Hindustan,” he said. “We need fearless young men such as you at our court. Bring this ring with you

when you come, and I shall recognise and remember you. And now, show us the road we must take in order to go to Agra.” Mahesh Das bowed
low and pointed towards the capital.

Mahesh Das later became famous as Raja Birbal.
Sub questions



Question Number : 53 Question Id : 25498942379 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

How did Akbar lose his way in the forest?

Options :

1. # Akbar rode so fast that except for a few superb riders no one could keep pace with him.
2. # His soldiers were scared of the emperor and hence maintained a safe distance.

3. ¥ Akbar got lost in the forest when he lost track of the tiger he wanted to kill.

4. % Tigers had become rare and Akbar had to go deep inside the forest to find one.

Question Number : 54 Question Id : 25498942380 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What confused Akbar and his soldiers?

Options :

1. # The Emperor and his men were hot, dusty and tired and didn't want to travel anymore.

2. # Akbar and his men could not see anything in the dark and had to stop.

3. % The royal party came to a place in the forest where they did not know which of the three roads to follow.
4. % The people of Agra did not know anything about signposting roads before this incident.

Question Number : 55 Question Id : 25498942381 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Why did the soldiers keep quiet when Akbar asked them for directions?
Options :

1. # They did not understand the emperor's question.

2. # They were uncertain about the place where the tiger was hiding.
3. # They were waiting for a person who knew the right way.

4. ¥ In an unknown place, all roads looked the same.

Question Number : 56 Question Id : 25498942382 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



What made Akbar laugh at Mahesh Das's answer?

Options :

1. # The answer was very funny.

2. % A witty answer which was different from the answer expected.

3. % Akbar was bored with the silence of his soldiers and hence delighted when someone replied.

4. ¥ The unintentional mistake made by Mahesh Das because he was scared.

Question Number : 57 Question Id : 25498942383 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which quality of Mahesh Das did Akbar like the best?
Options :

1. % His simple nature.

2. # His energy level.

3. ¥ His fearlessness.

4. % His unflattering attitude.

Question Id : 25498942378 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (53 to 57)

faferRad e 37 ufew ok Ui & IR T
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Sub questions

Question Number : 53 Question Id : 25498942379 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

3HER 7 ST H I B @l feam

Options :

1. % 3BHaR Z-1 dofl Y FaR] IR g & [ & UFER TaR! &l Bl dig 1l ST A1 7Ifd 918 181 74 Tl |
2. % P YHIT Y ST Y 3R TN TP YRI& g3 9914 g &

3. 3fHeR ST H 9 W T 5 dg 39 919 BT UIST B 38T YT ol a8 JRAT 3rgdT T

4. % STY 3T B AT UT 3R I WIoH & foIT 3/haR ol TR ST & 3fe ST I ST

Question Number : 54 Question Id : 25498942380 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

HER 3R ITD AP FT i g1 T

Options :

1. % JHIC 3R Iqd S1a TH, YAYIRT 3R Y T ¥ 3R 3(d 3R I 7! 31 91gd U
2. % B AR 3D ol AR H F© it T8 T U 3R I 3H1 TS|




3. Y61 G ST § U SITIg TR 3{TT Sgi Ivg Udl -Ta! UT foh o Il H ¥ fobg IR 3 Sg1 5|
4. % RIS AN DI 5 U1 A Ugd TS| IR M-Yad WY T & R § $S "o ual ol

Question Number : 55 Question Id : 25498942381 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

O SHBHER - 35 (G P IR T GBT ot Jdh gU Hi 57
Options :

1. % 3¢ SIGRIE P Jard GHgl H el M|

2. % I IY VM & IR T YT o g7 o1a gur g1 Tl

3. % 9 U® U AfGd DI Ucla a5 o S ol A1 o1-1a1 ol
4. ¥ 3T T8 R, T+t Tsob T ot fematt off|

Question Number : 56 Question Id : 25498942382 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

oY S & TATe TR ISl HaR F} g2

Options :

1. % Jad g1 AulGR T

2. ¢ U fafed Sare Sl 3{uférd 3R 9§ e Tl

3. % IOl 3HeR U D! & gt F S 741 U 3R Sufe o9 fopdt 7 Sare fean ot v gul
4. % Y G GRT 3 H H1 718 7T Fiifch 98 8 7T Y|

Question Number : 57 Question Id : 25498942383 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TSR TN & b T[0T T e = Ta TR Uig famam
Options :

1. % IYD! T Ypid|

2. % IFHT Holl W

3. ¢ Je! fre

4. % ID] G X1




QUANTITATIVE APTITUDE

Section Id : 2549894966
Section Number : 3

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6

Number of Questions to be attempted : 6

Section Marks : 6

Display Number Panel : Yes

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 2549895007
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 25498942364 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
What will come in place of question mark (?) in the following number series?

21 38 59 84 113 ?
Options :
1. % 138
2. % 152
3. % 134
4. ¥ 146

Question Number : 58 Question Id : 25498942364 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

fafaRaa Sen gaar o uy g (7) & R W A1 R



21 38 59 84 113 ?
Options :
1. #® 138
2. % 152
3. % 134
4. ¥ 146

Question Number : 59 Question Id : 25498942365 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Each of the questions below consists of a question and two statements numbered I and II given below it. You have to decide whether the data
provided in the statements are sufficient to answer the question. Read both the statements and give answer.

By how many years is Rasika younger than her brother Sunil?

I. The ratio of Rasika's present age to that Sunil's age after four yearsis 5 : 7.
II. The ratio of Rasika's age four years ago to Sunil's present age is 2 : 3.

Options :

1. #® The data in statement I alone are sufficient to answer the question, while the data in statement II alone are not sufficient to answer the
question.

2. # The data in statement II alone are sufficient to answer the question, while the data in statement I alone are not sufficient to answer the
question.

3. # The data either in statement I alone or in statement II alone are sufficient to answer the question.

4. ¥ The data in both the statements I and II together are necessary to answer the question.

Question Number : 59 Question Id : 25498942365 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 60 Question Id : 25498942366 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
What will come in place of question mark (?) in the following question?

(2% 3)% = (4 x 9% x (27 x 8)2 = (6)’
Options :



1.¥5
2.% 6
3.%3
4. % 8

Question Number : 60 Question Id : 25498942366 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

fafafad uy 3 v g (2) & M R S B I=a1 3mufy

(2% 3)* + (4 x 9)? x 27 x 8)? = (6)’
Options :

1.¥5

2. % 6

3.% 3

4, = g

Question Number : 61 Question Id : 25498942367 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Evaluate the following

1.5x78+0.5="?
Options :
1. ¥ 234
2. % 216
3. % 243
4. % 2061

Question Number : 61 Question Id : 25498942367 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



faferiRad &1 geaic &<
1.5x78+0.5="7

Options :
1. ¥ 234
2. % 216
3. % 243
4. % 261

Question Number : 62 Question Id : 25498942368 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A horse is tethered to a peg with a 14-metre long rope at the corner of a 40-metre long and 24-metre wide rectangular grass-field. What area of
the field will the horse graze?

Options :

1. ¥ 154 m?
2. % 308 m?
3. % 240 m?
4. ® 480 m?

Question Number : 62 Question Id : 25498942368 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TF OIF # 40 MeT 77 3T 24 Moy =2 JAaER OH F HIF F Fa W UH 14 HeT F6 T F
AT TH G (peg) F AU ST 7T gl HeA & fohcdel &1%al de ©IST =X HehaT 87

Options :

| v 154 T HeX (m?)

, % 308 & HieX (m?)



s % 240 T FHX (m?)

, % 480 T HEX (m?)

Question Number : 63 Question Id : 25498942389 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Find the cost of flooring a square floor having perimeter 60 m, if the cost of flooring is ¥ 25/ m?
Options :

| % T1.500

5 % T2,475

3 % ¥3.800

4 @ 15,625

Question Number : 63 Question Id : 25498942389 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

I ® AT #T T T 25/ T AET & ar 60 FHeT 9 AT F TSR TS 9 I g4 Fr A F0
ZreEfr?

Options :
| % ¥ 1,500

, = T 2,475



L » T 3,800

, v % 5,625
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Question Number : 64 Question Id : 25498942362 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
If all the letters from A to Z were writtenas A C E G_upto Y, i.e., dropping each alternate letter, leaving blank space and then all the blanks

were filled in with remaining letters in reverse order, i.e., AZCXEV...... ending with B, answer the following question:

How many pairs of letters in the new series are old neighbors from regular alphabetical order?
Options :

1. ®* One

2. ¥ Two

3. ® Three



4. % None

Question Number : 64 Question Id : 25498942362 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

I AAZ TR W MeRITPIA C E G ... Y R FUTW, 3UTd, TP ThIdR &R Bl BIgH, P TU § fordl ST 7, 3R b Rad R &l

U 3Rl A fauRa pa A, 3iufd, AZC X E V... B TR JHTW, H-T Si1dl @, o FHaferiRad us o1 SR ¢ |

T 4T & T S1&R T AHT JUIIHH & SR R TS g2
Options :

1. % U

2.3l

3. % T

4. % T

Question Number : 65 Question Id : 25498942372 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The terms on either side of the sign "::" have a similar relationship. Select the alternative of the terms I and II respectively, such that a logical
relation is established in each pair.

I : Short :: Treachery : 11

L. (1) Dwarf (2) Tiny (3) Tall (4) Splendid

II. (A) Loyalty (B) Glory (C) Disgrace (D) Honor
Options :

1. ¥ 1.(3),11. (A)

2. % 1.(1), 1. (D)

3. % 1.(4),11. (B)

4. % 1.(2),1 (C)

Question Number : 65 Question Id : 25498942372 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

1 RIE & QT 3R & Vo] T THM Y § | HHTT: [ 3R 11 & fahed &1 I8 &3, 9 fb Ul siis | U difdbed Iy T g 8|

I: BICT - BUC: 11

L (1) ST (2) BIeT (3) T (4) THER

1. (A) IBIGRT (B) HIGHT (C) 3UHM (D) FHH
Options :

1. ¥ 1.(3), 1L (A)

2. % (1), 1L (D)

3. % 1. (4), 1L (B)

4. % 1.(2),1L (C)

Question Number : 66 Question Id : 25498942374 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Select the alternative with the most appropriate description about these three words.

Whale : Bear : Humans
Options :

1. ¥ They are mammals.

2. % They all are wild animals.
3. # They all are carnivores.

4. % They all terrestrial living beings.

Question Number : 66 Question Id : 25498942374 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
S A Weal & Yoy T gay Ifad faaRr arel fdsbed o1 9 34|

R : U EI3R) : T @)
Options :

1. ¢ ITTYR B




2. % 9 gt STl SR B
3. % 3N ARERI B
4. % 3 gt —eig Ui g1

Question Number : 67 Question Id : 25498942375 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In a group of siblings, containing a certain number of males and females (i.e. brothers and sisters) each female has the same number of brothers
as she has sisters. Similarly, each male has twice as many sisters as he has brothers. Which of the following represents the number of males in the
group of siblings?

Options :
1. %2
2.¥3
3.% 4
4, % 5

Question Number : 67 Question Id : 25498942375 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

YIS-gg1 & U g ¥, Forgw e FfEra G # o 3R Afear (3rufd Hig 3R 987 €, Ude Afeel & Higdl @ G Ia-t &) & i
for I} T8 & | S UBR, TS YBW BI 3D U &1 g1 B g 98+ & | Fufafed & 9 -1, uk-g8+ & 9gg § goN &1 Tem
&1 e T 82

Options :

1. %2

2.¥3

3.% 4

4. %5

Question Number : 68 Question Id : 25498942376 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Read the below information and answer the question that follows.



‘P*Q’ means ‘P is the father of Q’
‘P-Q’ means ‘P is the sister of Q’
‘P+Q’ means ‘P is the mother of Q’
‘P+Q’ means ‘P is the brother of Q’

In the expression B+D*M+N, how is M related to B?
Options :

1. # Granddaughter

2. % Son

3. ¥ Grandson

4. # Granddaughter or Grandson

Question Number : 68 Question Id : 25498942376 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

fAfRad STHeR &1 Ue 3R I T 0% &1 3R ¢ |

prQ B IS QBT UATP B
PQ H I QP TEAPE
P+Q BT A QB AP B
‘P+Q BT QBT HE P B’

B+D*M-+N S0 H, M BT B I T H&Y 52
Options :

1. % Oy ar g

2. % I

3. ¢ T aT g

4. % TYcl 1 Qg 31y UidT a1 gred

Question Number : 69 Question Id : 25498942377 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
In each of the following, four words have been given, out of which three are alike in some manner, while the fourth one is different. Choose out



the odd one.
Options :

1. # Coarse
2. ® Profane
3. % Nasty
4. ¥ Blunt

Question Number : 69 Question Id : 25498942377 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

2 fap el & IR eg IRT 7T § FoFH T i frdh UopR T Tp O €, Safe Teb -1 fire B 1 39 e e 61 Uga |

Options :
1. % AiyH (Coarse)
2. % 3(ufdd (Profane)

3. ¥ X (Nasty)
4. ¥ ¢ (Blunt)
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Question Number : 70 Question Id : 25498942320 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which deity was most prominent in the Rigveda?
Options :

1. % Mitra

2. % Varun

3. ¥ Agni

4. # Pushan

Question Number : 70 Question Id : 25498942320 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
FHide § B A ¢adl Jad TEE A7
Options :

1. ® fi

2. % 90

3. 3Mf¥

4. % YO

Question Number : 71 Question Id : 25498942321 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Centrioles are found in:

Options :

1. % green plants

2. ¥ animals

3. * bacteria and cyanobacteria

4. % mushrooms

Question Number : 71 Question Id : 25498942321 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

RS dad (@Afsia) A O S B
Options :

1. % gXU

2. ¥ S[FR

3. % gaifar 3R eI

4. % HRR=YH

Question Number : 72 Question Id : 25498942347 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT an example of economic overheads?
Options :

1. % Schools

2. # Sanitary Facilities

3. % Roads and Railways

4. ¥ Coal Mines

Question Number : 72 Question Id : 25498942347 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Fofiied # @ 3 91 fawey, sniie sifaRed o o1 IaTeR0T 7161 o7
Options :

1. % faemera

2. % Tgwsdl giaymy

3. % TS& AR I

4. ¢ HIOA DI GH

Question Number : 73 Question Id : 25498942348 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Who wrote the book 'Discovery of India'?
Options :

1. ¥ Jawahar Lal Nehru

2. % Lala Lajpat Rai

3. % Dadabhai Naoroji

4. ® Motilal Nehru

Question Number : 73 Question Id : 25498942348 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
TEmaRt 3T Sfear T forem forgdt ot
Options :

1. ¢ SdTeR AT g

2. & T TSIUd 1A

3. % QIGIHTS ARTSH

4. % T A8

Question Number : 74 Question Id : 25498942361 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Match List-I (Player) with List-II (Sports) and select the correct answer using the codes given below the lists.

List-1 List-11

A. Gagan Narang 1. Archery

B. Akhil Kumar 2. Swimming
C. Mangal Singh Champia 3. Boxing

D. Virdhawal Khade 4. Rifle Shooting
Options :

1. % A4 B-1,C-3,D-2
2. % A2 B-3,C-1,D-4
3.+ A-4,B-3,C-1,D-2
4. % A2 B-1,C-3,D-4



Question Number : 74 Question Id : 25498942361 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

et 1 (Raaret) &l Gl 11 (del) o 1Y JAferd &< a1 Gl & - faU T fe 31&RT &1 TN Hid gU st Sak I

ol 1 Tl 11
A. T AR 1. dRerit
B. 3Red AR 2. RIS
C. H7el g 9 3. goahaTSit
D. dRYdd Wrs 4. SHA i
Options :

1. % A4 B-1,C-3,D-2
2. % A2 B-3,C-1,D-4
3.+ A-4,B-3,C-1,D-2
4. % A2 B-1,C-3,D-4

Question Number : 75 Question Id : 25498942390 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following has a smell of wintergreen oil?
Options :

1. # Methyl Benzoate

2. ¥ Methyl Salicylate

3. % Benzaldehyde

4. #* Phenyl Salicylate

Question Number : 75 Question Id : 25498942390 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
frafafed # 3 ey fdexhv aa @féal &1 aa) o1 7y o it 82
Options :

1. % fHYTSd daliue



2. ¢ Ty AfciRce
3. # dfcSegs
4. % fpsq AfeiRde
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Question Number : 76 Question Id : 25498942397 Question Type : TYPING TEST Display Question Number : Yes

Summer camps are supervised camps conducted to entertain as well as equip students with various life skills such as teamwork,
socializing, decision making, independent and responsible living and more. It aids the overall development of a child and children have
fun during this process as they get to explore new arenas.
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Section Marks : 0
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Enable Mark as Answered Mark for Review and Clear Response : Yes
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Question Number : 77 Question Id : 25498942396 Question Type : TYPING TEST Display Question Number : Yes

Sleeping is something that we all love. It is the timing that we do not. People love taking 8 hours of sleep. But these people usually sleep at
two in the morning. This way you will sleep, but you will still feel tired. If you do not sleep properly, you will be tired the whole day. This
might increase your chances of accidents. You will also be more prone to diseases such as heart disease and high blood pressure. It is also
proven that when a person does not sleep properly, he or she is more likely to be obese. This is the reason why many experts advise you
to sleep as early as possible. Sleeping early will lessens the risk of diseases and will improve your memory and thinking skills. Going to
bed also helps you in maintaining an ideal weight and increasing productivity. People with weaker immunity can enhance their immune
system by sleeping early. It also reduces anxiety and depression by making you feel happier and more energetic. One of the basic
strategies that help you go to bed early is to look after yourself. If getting into the cozy pajamas or luxurious bed sheet helps you sleep
better and early, then you should go for it. You should go for bed sheets that are made of natural materials like bamboo and cotton as it
will help wick away sweat. You set the temperature of your room. It is proven that humans sleep best when the temperature is cooler
than usual. Anything between twenty to twenty four degrees Celsius. That is why it is advisable to take a warm bath before you prepare
for sleep as it triggers sleepiness. You should then reduce the thermostat of your home every day at the same time. This will involuntarily
remind your body every night to go to bedtime. You can only sleep when you are relaxed. And getting an experience like a spa at home
will surely help you relax. You should try aromatherapy at home. Scent can help you relax your mind and body, readying you for sleep.
The scent of lavender is associated with sleep. You can try different scents like vanilla and valerian. Soothing music can help you relax
and fall asleep faster. You should listen to music that helps you sleep earlier. It is advisable to listen to music that calms your nerves. You
can also read books as it is proven that doing this induces sleep. You should read from a real book that is made up of paper and not that
is available on electronic devices such as your smartphones and laptops. These electronic devices emit the blue light that can keep you up
at night. You can always Kindle as it does not have a bright and backlit screen. You can also drink a glass of warm milk as it induces
sleep. Sleeping early comes with many benefits and in order to enjoy them, you need to make changes in the way you sleep.
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